3 < VI<4E THESE A% 1 9] A%

D 6 @D? ® 8

@ 9 ® 10

2} SHH 9 < x < 16
Ay BESelR= A =

A, 254
10, 11, 12, 13, 14, 15, 16 & 7 7}°]c}.




AFTHEA V3 = 1.732 V30 = 5.477 & 1§,+0.03 £} v0.003 <]

#o= v F2lolx A2?

@® 0.001732, 0.5477 @ 0.05477, 0.1732
@0.1732 , 0.056477 @ 0.5477,0.01732

® 0.1732, 0.001732

~&B

VO08 = v3x00T = B — 0.1732

10
v0.003 = V30 x 0.0001 = % = 0.05477




A=

B2 A7

D 241 = 1552 @ +0.241 = 0.4909
@ 2410 = 49.09 @ /24100 = 155.2

@ v0.0241 = 0.01552

THAA V241 = 1.552, V241 = 4.909 & ), th F 24

® v0.0241 = v2.41 x 0.01
=0.1v2.41 = 0.1 x 1.552
= (0.1552




4.

O 233 22 2sdr o] gyole?

|

[}

I _______
D 12+ 6411 @ 14+6V11 I,’
® 14+6vi5  (@)16+6VT5 a )

V3+/5"
® 184 6V15

B

RS E DRI

25 {V5(V3+ V5) + V3V5 + V3(V3+ V5)}
=2(8+3VI5) =16+ 6VI5




8 3 5 Aeo] 4 B2 B AL
@ V6+2<V6+3 @ 4-\T<2V7T-2
@)2v5+3<6v3-5 ® 25 \§< VI 1 3\

® 3+ V3<10- V12

®2V3+3<6vV3-5
2v34+3-6V3+5=-4V3+8=—V48+ V64 >0
~2V3+3>6V3-5




6. S AZZHANA V333 e a0l Vb=18174 I, a+ 59
& Fotoet

- 0 1 2 3

3.0 | 1,732 1,735 1,738 1,741

3.1 ] 1,761 1,764 | 1,766 1,769

3.2 | 1,789 1,792 1,794 1,797

3.3 | 1.817 1,819 1,822 1,825

3.4 | 1.844 | 1,847 1.849 1.852

V3.33 =1.825

V3.30 = 1.817

L a=1825,b=3.30
a+b=1825+3.30=5.125




V59 &g BEE ot & o, a® - (2+ VB)a+4 V52 FEE 5t
=t

> =

> Zg: 8

&8

a=V5-2

a’ - (24 VBla+4+5
=(V5-2)?~(2+ V5)(V5-2) +4V5
=5-4V5+4-(5-4)+4V5=8




oS 1894 nABCD , oCEFG, A

D

OEHL) &= 25 AApzkgol 1 1 3 .
011521'2111'51,52,5%01‘4'.5121 J
,522551,532552%1[q1,ﬁ
o] Zo|% Fohul? B —

13 3+ V3
®? @ 4-13 ® 3‘/_

7 44 V3
@3 @ 3

S,—10/0& BC=1,
1 1 — T 3
S = — ]_:—’ E:\/j:—
2=3%X173 37 3
1 1 1 1 — [T
= -_— == -_— —_— T - E f— —
S3=352=3X375> 9
V3




9.

oFg ATTEE o1 88ko] V55 o gk Fot?

0

1

2

3

4

1.41

1.41

1.42

1.42

1.42

1.43

1.45

1.45

1.45

1.46

1.46

1.48

1.48

1.49

1.49

1.49

1.50

1,51

1.52

1.52

1,52

1,53

1.53

e
2.0
2,1 11,44
2,2
2.3
2.4

1.54

1.55

1,55

1.55

1.56

1.56

® 5.93 @ 17.56

@ 7.50

@740

® 6.19

‘ V55 = V2.2%x 25 = 5v2.2 = 5 x 1.48 = 7.40




10. 2 nof tiote] Vo = 92 G Hd B FE25 f(n) &2
WAL, f(n) = 11 1 2FA% 0 O] HAYE o, TS b2

a-b\ . ° s
o, (“27) o wre Feteter
» E
> ™et: 2

B

f(n)=110]22

11 < yn <12

121 <n< 144

wret A ZJgh g = 143, 473k b = 121 o[t}

2 (422) =7 (2) oin 2 & 97 9 2 34
2 olct,




